21 oh 21

> 7ty Y

e I e e e D @%@
W W W W W Wy Wy %

o

BEO - 1em

—

& ERMR 51200

BEO@ - 1em

BEG - 1em

‘ Trvay
& ‘
[ ]
&
% Y M N I
5 Aﬁéhﬂ@_&ﬂjw_whﬁy
V' ®
+©—0—0—0—0—0-@
g5V

8 A LER

YRV
gll\\@
v

20 82
19 a2 10.5® -
2
M (M () M o
. o/ -/ -/ -/ :
ARG ARO
HEQ

vi-MERE  #52.0m

A



FRE 2 6 FEEDRHE
B 4| TEM REHE (BERRAE if )
e

FRREMh2H

KEHTRERARE M
E_ VATREEEET
WIIHA | FEREBI26EE Fr% (200

B R 1:500 ‘[2]%‘ 1/2 ~T7
T B B fR1:500

SRES

HHEES | 128-41

R m
173 = s N
ETERERAER
0 1 9
{ : ! ? ‘It ? b 1 8 v 1
0
T T I I " {
L] 1
No.7 0xH120 (P 2z k=l
No.6 20 xH10
No.5 20xHOT .
No. 4 20xHI1 (¥ No. 11 90 xH195 (e 1 AT
No.3 20xH8S <’\" No. 10 30 H1T1 <5§Etﬁ1t\:’:w§ym7>¢—; )
No.2 20xH79 (X7
No.1 20xH74 GEIKED ““ No. 8 30%H140 (EEm e =)V ENEY S )) No.9 30%H163 GEEEi e VBN EY k=1
\““‘\00 O O ,
(@) 450 1.75.,100 0.65
45000 1757100 1.08
(D) 450w 2.5 /100 0.92 (1) 2500 0.6,,100_30.00 () 250\ 0.6,,100_30.00
(2]
@ 5w 25710 2.00 ST (2.30m x1.50m) g
@ 50025100 2.00 -
>
@ 5wy 25100 2.00 <
5000 2.5/100 1.08 =
() ssowU LEVEL 0.92 -
® 450V LEVEL 1,45 5
O
R #
L B T §
—O0— %ﬁéﬂﬁt‘ h )
REEBLUET B
—O— | R [y
BRERSSUE 1A T
O
ﬁ i 7k i‘% ,.‘5\ ( £ B /)
EREE -
il B 1 AR
FIEREmAT226%H

*?’_E _IEI_(M) 1696

S P

| iz




TR 2 6 FERETR HERRAX 235 )

FIERERBER

[E. ]

kB

e ]

KERTKERZRR M VAT KEERRIZ (20

ISR

FiERERE226EH

R

#1:500

#1:200 ‘g‘ 272

SHRES

Y EES

BMETRERAER

TRIR

BRE%250VU

450VU

250VU

.'5/&00 2.5100 kEVEL
2 00]

0.6.7100

00] [2.00] 2
.4 30. 00

30.00

8.40

1.40

.4 30. 00

30.00

8.40

1.40

6

6
r16.68 A
F16.72 A
16.73

F16.75 A

F16.80 A

F16.83 A

T 16.82

{ol 16.69 1
{1670 A
16.71

0.108

15.945
15.934
15.915

T 15.892 A
15.842
15.792

0.00
0.65
1.13
2.65
4.65
6.65
8.65
9.73

T 15.350 A

+ 42,10

T 15.170 A

T 15121 4

| 15.0m
14.870

T 81.70

0.26
0.28
0.33
0.39
ro0.45 1
0.51
0.55
0.55
0.94

roL

ro131 1 72,10

1.45 + 80.30

=

1.48

A TE (REET)

N s]

fE T & Gl
%

[ LSP-TREE R FHRMR L=2.0 (2F)

BHETE MNEPEAR R—I o OAR B7—v /s (BMET)

[ LSBT F8%mE 3.0

R T HE

RAYY—=UFR t=9em LEHXRIERL

BEE (VU)

‘& (VU) [-BE (4350

R EER T
[ EEETR N

2#4/8

@: LSP-1RIBR EHERE L=2.0 (£f)




